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rock climbing, The cost s $8 per hour plus $13 for full-day equipment rental, The rental

You and your frends are planning an adventure at Radical Rocks for a fun-filed day of . /
includes  harmess, shoes, belay device and 2 chitk bag. By |3

Write an equation to represent your total cost for the day. I
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1) You found an online coupon that offers a $6.00 discount on the full-day equipment rental. How
does this change your equation above? Write a new equation.
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2) Your friend received a coupon in the mall offering a 40% discount off every hour? How does thls
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3) Graph the equations from Questions 1 and 2 above. Choose. a scale and label the axes.
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4) Which coupon offered the better deal? Use the graph to support your conclusion.
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5) You have a total of $35.00 to spend. How many hours can you purchase for the day?

= Find the number of hours for both equations from Question 1.and 2 above.

. nnnIhlsxllnbﬁﬂvml‘mnduslonﬁomuuuﬁm 42 Justify your answer.
yé‘ lbocavse You'd get more
ours o porchose ‘FO g‘H\‘e Clc‘« for

YOl Wit 835 p Cc\ggﬂ
oy 5
@ e R (55 ‘
Hes grownd
f s0, what is the approximate coordinate for the point of intersection? C O-S/ 2 >
Whatdos i poln represen witin the comtextf thisprolem? ()
29

/\J\ e both
had ke Scume





image7.png
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2} Your fiend received a coupon in the mail offering a 40% discount off every hour? How does this
change your equation above? Write a new equation=""=
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3) Graph the equations from Questions 1and 2
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4) Which coupon offered the better deal? Use the graph to support your conclusion.
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5) You have a total of $35.00 to spend. How many hours can you purchase for the day?

o Find the number of hours for both equations from Question 1 and 2 above.
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+ Does this support your conclusion from Question 47 ustify your answer.
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Q0 . -

6 Refer to your graph, did the two lines Intersect?
O
f s0, what s the approximate coordinate for the point of intersection?

What does this point represent within the context of this problem?
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You and your friends are planning an adventure at Radical Rocks for a fun-filled day of .
rock climbing. The costis $8 per hour plus $13 for full-day equipment rental. The rental

includes a harness, shoes,belay device and s chalk bas.
Write an equation to represent your total ot fo the day.
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1) You found an anline coupon that offers a $6.00 discount on the full-day equipment rental. How
does this change your equation above? Write a new equation.
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2) Your friend recelved a coupon in the mail offering a 40% discount off every hour? How does this
change your equation above? Write 2 new equation.
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3) Graph the equations from Questions 1.and 2 above. Choose a scale and label the axes.
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4) Which coupon offered the better deal? Use the graph to support your conclusion.
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5) You have  total of $35.00to spend. How many hours can you purchase for the day?

« Find the number of hours for both equations from Question 1 and 2 above.
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6) Refer to your graph, did the two lines intersect?
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You and you friends are planning an adventure at Radical Rocks for a fun-flled day of
rock climbing. The costis $8 per hour plus $13 for full-day equipment rental. The rental
includes 3 harness, shoes, belay device and 3 chalk bag.

‘Write an equation to represent your total cost for the day. I
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1) You found an online coupon that offers a $6.00 discount on the full-day equipment rental. How
does this change your equation above? Write a new equation.
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2) Your friend received a coupon in the mail offering a 40% discount off every hour? How does this.
change your equation above? Write 2 new equation. U1}
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3) Graph the equations from Questions 1and 2 above. Choose ascale and label the axes.
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4) Which coupon offered the better deal? Use the graph to support your conclusion..
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5) You have a total of $35.00 to spend. How many hours can you purchase for the day?

« Find the number of hours for both equations from Question 1and 2 above.
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« Does this support your conclusion from Question 4? Justify your answer.
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6) Refer to your graph, did the twi

intersect?
150, what is the approximate coordinate for the point of intersection?

‘What does this point represent within the context of ths problem?
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You and your friends are planning an adventure at Radical Rocks for a fun-filled day of o, /
includes  harness, shoes, belay device and a chak bag.

Write an equation to represent your total cost for the day. [
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1) Youfound an anline coupon that offers a $6.00 discount on the full-day equipment rental. How
does this change your equation above? Write a new equation.
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2) Your friend received a coupon in the mail offering a 40% discount off every hour? How daes this
change your equation above? Wiite a new equation.

Y=oy

3) Graph the equations from Questions 1 and 2 above. Choose a scale and label the axes.
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5) You have a total of $35.00 to spend. How many hours can you purchase for the day?
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6) Refer to your graph, did the two lines intersect?

1f 50, whatis the approximate coordinate for the point of ntersection?

What does this point represent within the context of ths problem?
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You and your friends are planning an adventure at Radical Rocks for a fun-filled day of o) /
includes 3 harness, shoes, belay device and a chalk bag.

Write an equation to represent your total cost for the day. l
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3) Graph the equations from Questions 1 and 2 above. Choose a scale and label the axes.
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